ﬁ#@(c\m}ww Techn icL_ e

R@v?g(o‘m
: o
| s .. TE (i ~1)
head j LM =5
f b dx = kX tC ( ks(()mﬁdrrﬂ

féx Ax :e,x 5 B

i
j-;—t-— @{X ;(Qﬁh’.\‘\"c

f AnX di= - + C

Revision —examples from past paper :

‘ ) ; e
D f ~4 - —‘I)f—?’ A __.;?Z + sinax + e % A

=B | 4
:f14—1 +2<;‘Z) s Ax + € A

a4A

r , 1
= xX2 —£2+21005lx\+—'§(—coga270+26 A
5 -2
- fF ! + 2oy ] — Lcos o+ Z'e“ +
5 22 % &






TJechniques  of :ﬁqJ(eﬂm%h

Tnteqakon by Substibehon
H & “ k i 5
= v (/;Hflod ' O{' i {'68 FQ-H mg ‘fO Cf»lcqu/e +[1€ “"Jfﬁﬁ il
into Somen Hfuj We. can do |

90 p e
) jm’l dx

Leb  u=I14+x*

- Ji.du &:21
\W/r 27/ OlV(
= G
1 Y ol —Q——_;—C
B “Wg _
= 5 s du
=4 L 2 U /23 RO
i
.
T
= g+ C
Nete : = TThis worked becauce we coudd cavcal Gk
$he s

- e X s basically Lk e devative ﬁf
'+7;1 ({Yug‘f out b\j a comsmﬂﬁq

fﬁ"% o our dut dat wetiod  of
quhshtuten coudd  work |
ook oUf for a Juncter and dervatve
! Lo ,



et us x> 2
Ay
Lo 3%
ax = .d__bl
oy A
ed u=x>
Au p
A o
ax = au
3A 2



) j 14605(‘9(_54*5) ax

_ s
= f X7 Cos (. dy
5%

f
gj(osu Au

!
5 Sthu + C

:% Sin (x%+3) + c

|
2N
2

x4
Ve whid
o9 (5 4) +¢

lod  uU=7"43
U
5{;{ = bg¢
dy = A4
hx4
b u=2
Aau
. =AX
do= QU
25¢

W e 2
do - AU
o 8

<— Nehw Denvahve Cf
Roftom s ont 6P



B) 78
O j =2 — dx &—  depivatve @39 boflom i« on

54+ x3 HHre WP _
:S _5__3‘9_(_(,1_ e: U= 543
v S G Au "
H =X
- du
j . 4 4 Erar3
= /Qogj w + ¢
Log (5+37) + ¢ ey
Look out or ;ﬂ(_()
B

f”’” di - log $14) +

Dl
4T e .
Nohcoj}_

- lcfﬂ (B4dt) A



h) j b1”+ 5% dx

FRATHT

$— Nohwe the dea%vog boflomn is 3 "+ 4

0{)(

- E;Z(ax% 40
X3 42547

"2 1o (Pt 2x7) +C

4 J (_;ml dx

et U= igﬁ?(
: Au 1
;57%-2.7(/6{1& Bf)f(=:'x
dx = 1dU
3
3
- (190 + ¢
&
- i (22 dx Lot u=3x+2
D[ sw () s
' At~ , _ We c(ould do
= ; 1A - 2
g st C—i; ot = d4 H1G Wmoeve
. 5 4{Luddgj using
- %wsu o T vodorce
S%COS(%XHD +-C. : (hain rule
Note bt our  vevere chatn cules  (an dleo be
done ud no Sttt in
‘ ‘ oS (aX+h _Lein(ax+h) +
e cos ax dx - Lgimax + ¢ { cos (ax+h (.:'H 5 (

-ax o '_
(¢ d?ﬂ:—é‘;e' ¢ e

ek



